
Equations, Constants, and Conversion Factors 

	Molarity =
𝑛
𝑉	

	𝐸. =
/
0
𝑚𝑣0          𝐸. =

345
67

 

𝐸8 = 𝑚𝑔ℎ           𝐸;< = V(voltage) 	= CDEDF
G

 

Δ𝐸 = 𝑞 + 𝑤 

𝑤 = 𝐹	 × 	𝑑 = 𝐹 × Δ𝑥 
 
𝑤 = −𝑃Δ𝑉 
 
Δ𝐻 = Δ𝐸 + 𝑃Δ𝑉 

𝑞ST< = 𝐶Δ𝑇 = 𝑚𝐶WΔ𝑇 
 
Δ𝐻XYZ[ = Σ]X[G.	Δ𝐻_[ − ΣX;TS`.	Δ𝐻_[ 
 
𝑃𝑉 = 𝑛𝑅𝑇 
 

𝑑 =
𝑃ℳ
𝑅𝑇  

 
𝑃5 = 𝑃/ + 𝑃0 + 𝑃3 + 𝑃c +⋯ 
 
𝑃/ =

𝑛/
𝑛5
𝑃5 = 𝜒/𝑃5 

 

𝑢XgW = h345
ℳ

            𝑢g] = h045
ℳ

 

 
𝜆𝜈 = 𝑐           𝐸]l[`[Z = ℎ𝜈           𝐸 = lS

m
 

 

𝜆 =
ℎ
𝑝 =

ℎ
𝑚𝑣 

∆𝐸Z = (−2.178	 × 	10u/v	J) x
1
𝑛_0
−
1
𝑛y0
z 

𝐸Z = (−2.178	 ×	10u/v	J) {
1
𝑛0| 

 
Δ𝑝 × Δ𝑥 ≥ l

c~
    or      𝑚Δ𝑣 × Δ𝑥 ≥ l

c~
 

 

 

𝑅 = 0.08206	
L	atm
mol	K 		= 8.314

J
mol	K = 8.314

m3Pa
mol	K 

 

𝑅 = 1.987
cal
mol	K = 62.36	

	L	torr
mol	K  

 
101.325	J = 1	L	 ∙ atm 
1	J = 1	kg	m0 ∙ su0 
4.184	J = 1	cal 
 
1	atm = 760.mmHg = 760. tor	 
												= 1.01325	 ×	10�Pa 
												= 101.325	kPa = 1.01325	bar 
 
1	L = 1.0567	qt = 0.2642	gal 
1	kg = 2.2046	lb 
1	amu = 1.6605	 × 10u0�	kg 
1	km = 0.62137	mi 
1	Å = 1 × 10u/�m	 = 0.1	m 
 
K =	�C + 273.15	 𝐶[ = �

�
(	[𝐹 − 32) 

 
Proton	Mass:	𝑚8 = 1.673	 × 	10 − 27	kg 
Neutron	Mass:	𝑚6 = 	1.675	 × 	10 − 27	kg	
Electron	Mass:	𝑚; = 9.10939	 × 10 − 31	𝑘𝑔	
electron	charge:	𝑒 = 1.602	 × 10u/�C 
 
𝑁� = 6.022 × 1003molu/ 
𝜅 = 8.99 × 10�	J	m	C0 
𝑔 = 9.81	m/s0 
𝑐 = 2.998	 ×	10v 	

m
s  

ℎ = 6.626	 ×	10u3c	J	s 
1𝐷 = 3.336	 × 10u3�C	m 
 
 
 
𝑆¤ = 𝑘	𝑃¤      		𝑃W[<Z = 𝑋W[<¦;Z`𝑃W[<¦;Z`[  
   
∆𝑇§ = 𝐾§𝑚g[<T<y`©	(]TX`yS<;W)      
∆𝑇_ = −𝐾_𝑚g[<T<y`©(]TX`yS<;W) 
 

Π = 𝑖
𝑛
𝑉 𝑅𝑇 = 𝑖𝑀𝑅𝑇



Initials _________ 
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